BSP BOLT

Mote: 1. For use with hraided hoses.

2_If use with spiral hoses. hose fitting series number is 72071 2-30%-1x

E DIMENSIONS
. PARTNO. THREAD E A B C 5
- 7208-02 G1/87%28 265 4.8 4.8 14
I 720804 G419 285 B 6 19
720B-06 GAE K19 385 g 7 22
720B-08 G1/2"%14 44 13 8.5 27
7208-10 GHIE"H14 485 15 10 30
7208-12 GA4"X14 56 18 10 32
720B-16 G17X11 65.5 22 13 41
T20B
BSP BOLT
72011
BSP BANJO
BSP BANJO
HOSE BORE DIMENSIONS
A
PART NO. THREAD E DN DASH A d D H
72011-02-03 G1/8"%28 5 03 18 9.9 22 16
72011-02-04 G1/87%28 6 04 185 9.9 22 16
72011-04-03 G147 %19 5 03 19 13.3 24 15
72011-04-04 G1/47 %19 6 04 195 133 24 15
72011-04-05 G114~ %19 8 05 19.5 133 24 15
72011-04-06 G147 =19 10 06 195 133 24 15
72011-06-04 G3I8" *19 6 04 22 16.7 29 20
72011-06-05 G38" x19 8 05 22 16.7 29 20
72011-06-06 (318" %19 10 06 22 16.7 29 20
72011-06-08 G3I8™ %19 12 08 23 16.7 29 20
72011-08-05 G1/27 %14 8 05 27.5 21 38 25
72011-08-06 G1/27 14 10 06 27.5 21 38 25
72011-08-08 G127 x14 12 08 28 21 38 25
72011-08-10 G1/27 x14 16 10 29 21 38 25
72011-10-10 G5IE™ =14 16 10 28 23 40 27
72011-12-10 G34" =14 16 10 32 26.5 48 e
72011-12-12 G34" =14 20 12 32 26.5 48 3
72011-16-08 G1™ %11 2 08 40 333 60 42
72011-16-12 G17 %11 20 12 40 333 50 42
72011-16-16 617 %11 25 16 41 33.3 60 42




00100

Ferrule For SAE 100R1A/DIN2002 1ST Hose

00100

il

]

o

HOSE BORE DIMENSIONS

PART NO. DN DASH D L

00100-04 B 4 0.6 ao

00100-05 8 5 215 31

00100-06 10 B 24 32

00100-08 12 8 28.5 34

00100-10 16 10 3z a7

00100-12 20 12 26 43

00100-16 25 16 43 50

00100-20 32 20 50.5 A0

00100-24 40 24 57 74

00100-32 50 32 70.6 78

o P b
- (MR
Ferrule For SAE 100R2AIDIN2002 25T Hose
'
HOSE BORE DIMENSIONS

PART NO. DM DASH D L
00200-04 B 04 21 30
00200-05 B 05 24 k|
00200-06 10 06 155 32
00200-08 12 08 30 34
00200-10 16 10 334 38
00200-12 20 12 38 43
00200-16 25 16 46 50
00200-20 k) 20 56 59
00200-24 38 24 62 74
10200-32 51 32 75 78




Tnn

00110
Ferrule For SAE 100R1A/DIN2002 15T Hose ,
HOSE BORE DIMENSIONS
PART NO. DN DASH D L
00110-04 § 04 20.6 30
00110-05 8 05 20.8 3
00110-06 10 06 23:3 32
00110-08 12 08 27 34
00110-10 16 10 30 37
00110-12 20 12 34 43
00110-16 25 16 426 50
HOSE BORE
PART NO. DN DASH
D0210-04 B 04
00210-05 8 05 23 3
00210-06 10 08 25 32
00210-08 12 08 28.3 34
D0210-10 16 10 3.5 37
00210-12 20 12 35.5 43
D0210-16 25 16 45 50
00210
Ferrule For SAE 100R2A/DIN2002 25T Hose
00018
Ferrule For SAE 100R7/R8 Hose
HOSE BORE i~ = -
o AT E I
PART NO. DN DASH D ‘ H m
00018-04 6 04 17
00018-05 8 05 188 |




00400

Ferrule For 4SP4SHI12-16, R12/06-16 Hose

T

HOSE BORE DIMENSIONS
'PART NO. DN DASH L
00400-04 i 04 K F]
00400-06 10 06 39
00400-08 12 08 41
00400-10 16 10 43
00400-12 20 12 51
00400-16 25 16 61.5
00400-20 32 20 B7.5
00400-24 40 24 75
00400-32 50 32 79
Ferrule For 45H, R12/32 Hose | 10 H
HOSE BORE DIMENSIONS
PART NO. DN DASH D L
00401-20 32 20 53 67.5
00401-24 40 24 61 ]
00401-32 a0 32 T 79




HW T

i~

10311 u
0-Ring Mstric Male Flat Seat

O-RING METRIC MALE FLAT SEAL

E HOSE BORE DIMENSIONS

FART MO. THREADE D DASH A C 5
10311-12-04 M12x1.25 i 04 225 10 14
10311-14-04 M14x1.5 6 04 235 11 14
10311-16-04 M16x1.5 & 04 23.5 i1 17
10311-16-05 M16x1.5 8 D5 235 11 17
10311-16-06 M16x1.5 10 06 235 11 17
10311-18-06 M18%1.5 10 Hi] 235 11 19
10311-22-05 M221.5 8 05 27 i2 24
10311-22-06 M2Z41.5 10 i 26 12 24
10311-22-08 M2251.5 12 08 265 12 24
10311-27-10 M27%1.5 16 10 s 13 a0
10311-30-12 M30x1.5 20 12 335 14 32
10311-36-12 M36X2 20 12 385 16 3B
10311-36-14 M36H2 22 14 35.5 16 38
10311-39-16 M3Gx2 25 16 39 16 4
10311-45-20 MA5A2 i 20 44 5 20 46
10311-52-24 ME2H2 40 24 47.5 23 55
10311-64-32 MELAZ 50 32 525 27 65

Mote:1.For use with braided hoses. 2.if use with spiral hoses, hose fitting series number is 1031 2-x0-xx




-

ot
e o s

; jgr R 0 —

[} A

S

i

20211 T e
20211/20211T T
Metric Female Flat Seat -
b 20211-T
METRIC FEMALE FLAT SEAT
E HOSE BORE DIMEMNSIONS

PART NO. THREAD DM DASH A cC a2
20211-10-02 M1 O 4 2 14 i 14
20211-12-03 M12X1.5 5 3 14 8 17
20211-14-04 M14X1.5 3] 4 155 B.5 14
20211-14-05 M14x1.5 g 4] 164 g.A 19
20211-16-04 M1EX1.5 ] 4 16.5 g 22
20211-16-05 M1EX1.5 ] ] 16.4 B 22
20211-16-06 M16X1.5 10 & 16.5 8 22
20211-18-08T M1E8X1.5 g b 175 g 24
20211-18-06 M18X1.5 10 [ 175 g 24
20211-20-06T M20x1.5 10 i 16 i0 24
20211-20-08 M20X1.5 12 B 18.5 10 2T
20211-22-06T M22X1.5 10 B 16 i0 27
20211-22-08 M22¥1.5 12 & 18.58 i0 27
20211-22-10 M22X1.5 16 10 1945 10 27
20211-24-08T M24x1.5 12 g 16.5 11 30
20211-24-10 M24x1.5 16 10 20.5 105 30
2011-27-08T M27X1.5 12 B 18.5 10 32
20211-27-10T M27%1.5 16 10 19.58 i0 32
20211-30-12 M30x1.5 20 12 218 1 36
20211-33-14 M3 2 i 14 214 13 41
20211-36-12T M3EN2 20 12 20 13 41
20211-36-14T MIAEX2 22 14 20 1 41
20214-39-16T M3EX2 25 16 235 13 46
20211-42-20 M 422 32 20 26 14 hi
20211-45-20T ' I 4 3z 20 25 15 55
20211-52-247 ME2R D 40 24 25 17 60
20211-60-28T MEDK2 45 28 26 20 70
20211-64-32T ME4X2 50 32 26 23 75

Mote:1.For use with braided hoses. 2.if use with spiral hoses hose fitting series number is 2021 2-x-xx




A 1

A _ﬂﬂ |I|TT1_I

202411202417 eI Pf"[lm"mj
45°Metric Female Flat Seat 6 i
7. 20241-T
A" METRIC EEI.I!ELE FLAT SEAT
HOSE BORE DIMENSIONS
PART NO. THREAD E

D_N DASH A C H 52

20241-14-04 Midx15 il 04 40.5 8.5 18.5 18
20241-14-05 Mid=t 5 8 05 42 7 a5 19.3 18
20241-16-05 Mig=1.5 8 o5 44 4 8.5 20 22
20241-18-06 M18=1.5 10 g A48T 8 214 24
20241-22-08 M22x1.5 12 08 i 10 24 27
202414-27-10T M27=1.5 16 10 6.6 10 24 3 a2
20241-30-12 M30=1.5 20 12 T84 B 30 36
20241-36-12T M 36=2 20 12 5 13 275 41
20241-36-14T il 3G=2 22 14 i3 13 27 41
20241-36-16 M 35x2 #h 16 85T 13 315 41
20241-39-16T M 3592 25 16 B39 13 297 46
20241-42-20 fi42=2 3z 20 i 15 36.6 a0
20241-45-207 [ 453 3z 20 G4 5 15 338 55
20241-52-20T M52x2 32 20 945 17 33.8 Gl
20248-52-247 ME2x2 40 24 108.5 17 K AT G0
20241-60-28T M G0=2 45 28 e 7 20 43.6 i
20241-64-32T T a0 32 1278 23 45.6 Fidi]

Mote:1.For use with braided hosas. 2.if use with spiral hoses hose fitting series number is 202420050




L Ty
! ."j’{p R
= IR L&
L—if il o THL —
P |~ T
20291/20291T ul |8 20291 | e
90°Metric Female Flat Seat 3 s | I—;I:'-*’
—[T—ll-flf
oilll ¥ 20201-T
90° METRIC FEMALE FLAT SEAT
E ‘HOSE BORE DIMENSIONS
PART MO. THREAD DM DASH A Cc H g2
20291-12-02 M12X1.25 4 2 265 8 30.5 17
20291-12-04 M12%1.25 1] 4 3o 8 33.5 17
20291-14-04 M14X1.5 <) 4 30 g5 34 19
20291-14-05 M14x1.5 8 h 33 8.5 ir 19
20291-16-04 M16X1.5 i) 4 30 g 35 22
20291-16-05 M16x1.5 8 5 34 8 38 22
20291-16-06 M16X1.5 10 & 355 g 40.3 2
20291-18-06T M18x1.5 a 5 33 8 39 24
20291-18-06 M18x1.5 10 il 35.75 8 413 24
20291-22-08 M22K1.5 12 B 41 10 48 27
20291-2210 M22x1.5 16 10 T 10 53 27
20291-24-08T M24x1.5 12 8 41 11 455 30
20251-37-04T M27%1.5 i) 4 an 10 355 32
20281-27-08T M27x1.5 12 B 41 10 46 32
20294-27-10T M27X1.5 16 10 56 10 51 32
20291-30-12 M30x1.5 20 12 66.2 11 63.5 35
20291-33-14 M33x2 22 14 1.2 13 65 a1
20291-36-14T M36X2 22 14 ¥1.2 13 61 a
20291-36-16 M36x2 25 16 6.7 13 it 3|
202581-39-16T M 392 25 16 6.7 13 67.5 45
20201-42-20 M42A2 a2 20 91.5 15 82.5 50
20291-45-20T M45x2 32 20 1.5 15 78.5 55
20291-52-20T M52 32 20 91.5 1 78.5 60
20291-52-24T ME2H2 40 24 109.4 17 92 60
20291-60-28T MEDX2 45 28 1199 20 106.5 70
20291-64-33T ME&X2 50 32 130.85 23 113.3 75

Mote1.For use with braided hoses. 2.0 use with spiral hoses hose fitting series number is 20292-x01-1x




10411
Meatric Male 24°Cone Seat L.T.

METRIC MALE 24" COME SEATL.T.

HOSE BORE DIMENSIONS
PART NO. THREAD E TUBE 0.D.

DN DASH A C
10411-12-D4 M12%1.5 6 04 6 20.5 10
10411-14-04 M14%1.5 6 04 8 205 10
10411-14-05 M14%1.5 B 05 8 215 10
10411-16-04 M16%1.5 £ 04 10 225 11
10411-16-05 M16%1.5 8 05 10 225 1
10411-16-06 M16%1.5 10 06 10 225 11
10411-18-05 M18%1.5 8 05 12 235 1
10411-28-06 M18%1.5 10 06 12 215 11
10411-22-06 M22%1.5 10 06 15 245 12
10411-22-08 M22%1.5 12 08 15 26 12
10411-26-08 M26%1.5 12 08 18 26.5 12
10411-26-10 M26%1.5 16 10 18 27 12
10411-27-10 M27%1.5 16 10 18 32 14
10411-30-10 M30%2 16 10 22 29 14
10411-30-12 M 302 20 12 22 29 14
10411-36-16 M 36X 2 25 16 28 1.5 14
10411-45-20 M45x%2 32 20 35 36 16
10411-52-24 M52%2 40 24 42 38 18

Mote:1.For use with braided hoses. 2.0 use with spiral hoses hose fitting series number is 1041 2-00-xx

51

14

14

17

17

17

19

18
24

27
27
30

32

38
46
55




1
\

Hﬁhrmm1

: =
10611 =y Lfr-
Metric Male 24°Cone Seat H.T. -
METRIC MALE 24° CONE SEATH.T.
E HOSE BORE DIMENSIONS
PART MO. THREAD E DM DASH TUBE 0.D. A G 51
10511-14-04 M14X1.5 i} 04 i 241 12 14
10511-16-04 Mi6x1.5 & 04 8 26.5 12 17
10511-18-04 M18X1.5 1] 04 10 265 12 14
10511-20-05 M20x1.5 8 a5 12 27 12 22
10511-20-06 M20x1 A 10 06 12 26.5 12 22
10511-22-05 M22x1.5 8 05 14 305 14 24
10511-22-06 M2 .5 10 06 14 3.5 14 24
10511-22-08 M22X1.5 12 08 14 £ | 14 24
10511-24-08 M24x1.5 ) ) a3 16 31.5 14 27
10511-30-10 M30K2 16 10 20 36 16 32
10511-30-12 M30x2 20 §2 20 36 16 32
10511-36-12 M36x2 20 12 25 a5 18 41
10511-36-16 M36x2 25 16 25 41.5 18 38
10511-42-16 M4e2x2 25 16 30 44 20 46
10511-42-20 M4e2N2 32 20 30 45 20 46
10511-52-20 ME52H2 a2 20 30 50 22 54

Mote:1.For use with braided hoses.2.if use with spiral hosss hose fitting series number is 1051 2-x¢-xx




20411/20411T e

O-Ring Metric Female 24°Cone L.T. e mill |
IS0 12161--DN3865 — VT '
Yie 20411T
0-RING METRIC FEMALE 24" COMNE LT
E HOSE BORE o DIMEMSIONS
PART MO. THREADE D DASH TUBE O.D. 0 RING A C g2
20411-12-04 MT2x1.5 6 04 6 004.551.5 26 1 1%
20411-14-04 M14£1.5 ] 04 8 006.5%1.5 275 2 19
20411-14-06 M14x1.5 10 06 8 006.5X1.5 275 2 19
20411-16-04 M16X1.5 ] 04 10 008.0X1.5 28 2 22
20411-16-05 M16X%1.5 g a5 10 008.0X1.5 28 2 22
20411-16-06 M16X1.5 10 06 10 008.0X%1.5 28 2 22
20411-18-05T M13X1.5 g a5 12 010.0¢1.5 275 18 23
20411-18-08 M1341.5 10 06 12 010.0%1.5 29 25 24
20411-18-08 M18X1.5 12 08 12 010.0x1.5 295 25 24
20419-22-05T M22X1.5 ] a5 15 012.042.0 20.5 24 27
20411-22-06T M2241.5 10 06 15 012.0%2.0 29 2.5 27
2044-22-08 M22%1.5 12 a8 15 012.0%2.0 3z 25 27
20411-26-10 M26X1.5 16 10 18 015.0%2.0 35 2.5 &2
20411-26-12 M26X1.5 20 12 18 015.0%2.0 35 2.5 32
2041127107 M2741.5 16 10 18 015.0x2.0 35 25 32
20411-27-12 M27x1.5 20 12 18 015.042.0 35 2.5 32
20411-30-10T M3I0K2 16 10 22 020.0%2.0 35 4 36
20411-30-12 MI0K2 20 12 22 020.0%2.0 38 4 36
20411-36-132T M3EKH2 20 13 28 026.0X¢2.0 35 4 a
20411-36-14T M 3EA2 22 14 28 026.0x2.0 36 ¢ a1
Mote: 1. For use with braided hoses 2.if use with spiral hoses hose fitting series number is 2047 2-xx-xx




'—L'u..-v A
w1 "
’I" 20411 P'.' b
204411204417 ez
45°0 Ring Metric Female 24°Cone L.T. Ll I""
ISD 12161-2--DIN38656 —
@ 20411-T
45° O-RING METRIC FEMALE 245 CONEL.T.
E HOSE BORE 0 DIMENSIONS

PART NO. THREADE DN  DASH  TUBE QD 0 RING A C H s2
20441-14-04 M14X1.5 6 04 B 006.5%1.5 19 2 277 19
20441-16-05 M16X1.5 8 05 10 008.0X1.5 51.5 I
20441-16-06 M16X1.5 10 06 10 008.0X1.5 53.4 2 292 22
20441-18-05T M18xX1.5 8 05 12 010.0%1.5 462 25 228 12
20441-18-06 M18X1.5 10 06 12 010.0%1.5 542 25 299 24
20441-22-05T M22X1.5 8 05 15 012.0%2.0 483 25 25 27
20441-22-06T M22%1.5 10 08 15 012.0%2.0 504 25 257 27
20441-22-08 M22X1.5 12 08 15 012.0X2.0 681 25 332 27
20441-26-08T M26X1.5 12 08 18 015.0%2.0 62 25 261 32
20441-26-1D M26X1.5 16 10 18 015.0%2.0 807 25 358 32
20441-26-12 M26X1.5 20 12 18 015.0%2.0 869 25 395 32
20444-27-10T M27%1.5 16 10 18 015.0%2.0 807 25 359 32
20441-27-12 M27X1.5 20 12 18 015.0%2.0 869 25 395 32
20441-30-10T M30X2 16 10 22 020.0%2.0 751 4 303 36
20441-30-12 M 302 20 12 22 020.0%2.0 89.1 4 417 36
20441-36-12T M36X2 20 12 28 026.0X2.0 82 4 338 4
20441-36-14T M36K2 2 14 28 026.0%2.0 837 4 333 4
20441-45-20T M45%2 32 20 35 032.0%2.5 9956 5 408 55
20441-52-207 M52%2 32 20 42 038.0%25 1026 55 418 60
20444-52-24T M52%2 40 24 42 038.0%25 1166 55 458 60

Mote:1.Foruse with braided hoses. 2. use with spiral hoses hose fitting series number is 20442-xx-xx




20491120491T BT

T S

90°0 Ring Metric female 24°Cone L.T. gl B 7
ISO 12161-2--DIN3866 . iy
JOOUA o
i 20491-T
a0° O-RING METRIC FEMALE 24" CONE LT
E HOSE BORE Q DIMERSI OGNS

PART MO. THREAD E DM DASH TUEBE 0.0 0 RIMNG A C H 52
20491-12-03 M12=1:5 5 3 i 004.5%1.5 30 1 38 17
20491-12-04 M12%1.56 ] 4 i3 004.551.5 30 i 38 17
20491-14-04 M14x1.5 i 4 i 006.5%1.5 a0 2 3a 18
20491-16-04 M1E%1.5 ] 4 10 008.0x1.5 30 2 a5 2
20491-16-05 M16x1.5 a 5 10 008.0x1.5 33 2 415 22
20491-16-08 M1EX1.5 10 ] 10 008.0x1.5 35.3 2 M.Aa 22
20451-18-08T M18x1.5 a ] 12 0 0.0<1.5 33 1.5 42 22
20491-18-06 M1B8x1.5 1d i 12 M 0.0x1.5 355 25 435 24
20481-22-06T M22%1.5 10 i 15 012020 355 3 &7 27
20491-22-08 M2Zx1.5 12 g 15 0 2.0x2.0 41 25 2 27
20481-26-08T M26%1.5 i2 g 18 015020 &1 X 52 32
20491-26-10 M26x1.5 16 10 18 01 5.0x2.0 hE6.5 25 A8 32
20491-26-12 M26%1.5 20 i2 18 015020 65 25 61 32
20491-30:10T M 302 16 10 22 020.0x2.0 ha.5 3.8 A8 36
20491-30-12 i 302 20 12 23 020.0%2.0 65 4 61 36
20491-36-12T7 M 362 20 12 28 026.0x2.0 ild] 4.5 i3] 45
20451-36-14T M 3EH2 22 14 28 026.0<2.0 i1 45 74 45
20491-45-16T M 452 25 16 35 032.0%2.5 78 4 775 A5

Motet. For use with braided hoses. 2.if use with spiral hoses. hose fitting series number is 2049 2-xx-5x




"‘é”"'“ \
;.z-L}_l_f | | T .*'-! . = 20511
20511120511 T e e A _
O Ring Metric Female 24°Cone H.T.
150 12151-2-DIN 3865 aadu || "'l' .I-:_"Im' )
i .5.2| 20517-T

O-RING METRIC FEMALE 24° CONE H.T.

E HOSE BORE DIMENSIONS

FART MO THREAD E D DASH TUBE 0.0 C 8
20511-14-04 M16%1.5 6 04 6 1.5 19
20511-16-04 M1&x1.5 £ 04 8 1.5 22
20511-16-05 M16x1.5 8 05 8 1.5 22
20511-18-04T M18x1.5 B 04 10 1.9 22
20511-18-06 M18x1.5 10 06 10 2 24
20511-20-06T M20H1.5 10 06 12 2 24
20511-20-08 M20x1.5 12 08 12 2.4 27
20511-22-06T M221.5 10 0g 14 3 27
20511-22-08 M2Z1.5 12 08 14 24 27
20511-24-08T M2&X1.5 1 0g 16 3 30
20511-24-08T M24x1.5 12 08 16 3 30
20511-30-10T M302 12 10 20 24 36
20511-30-12 M302 20 12 20 F 6
20511-36-12T M36x2 20 12 25 32 48
20511-36-14T M36x2 23 14 25 3:2 46
20611-42127 MaZx2 22 12 a0 a9 50
20511-42-16T MaZL2 25 16 30 39 a0
20511-52-207 MEI2 32 20 38 4.5 60
20511-53-24T MEZ2 40 24 38 4.5 60

Mote 1 For use with braided hosas. 2.0f use with spiral hoses hose fitting sefies number is 2051 2-25-%x


































































































































